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3.10 

)8t(u)8t()t(yTherefore

)8t(d)t(y,8t

0)t(y,8t

t

8







 

3.11    
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y(t) 
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3.16 . 

a)x(t)=δ(t),y(t)=h(t), so y(t)=x(t-9),h(t)=δ(t-9)

b)  




t

d9x)t(y  , 

 




t

d9)t(h  , 

if t<9,h(t)=0   

if t>9, h(t)=1 

Therefore h(t)=u(t-9) 

c)   
 











t

dd9x)t(y 


 let x(t)=δ(t) 

        
 













 d9udd9x)t(h

t

 

t<9, h(t)=0 

t>9, h(t)=  

t

9

)9t(d  

Therefore h(t)=(t-7)u(t-7) 

d) x(t)=δ(t),y(t)=h(t), so y(t)=x(t+9),h(t)=δ(t+9)

3.17 Linear 

a) Not time invariant

b) δ(t)=sin(4t)δ(t)=1 δ(t)= δ(t)

c) δ(t-π/2)=sin4t δ(t-π/2)=sin(π/2) δ(t-π/2)=1 δ(t)=1

δ(t-9) 

9 

1 

  
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3.18 

a) Stable,casual

b) Not Stable,casual

c) Stable, not casual

d) Not Stable, not casual

e) Stable, not casual

f) Stable, casual

g) Stable, casual

h) Stable, casual
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3.20. 
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3.21 
a)Not casual
b) Stable

c) )2t(2)2t()t(x  

y(t)=x(t)*h(t)=h(t-2)-2h(t+2) 

3.22 

(a) Non casual 

(b) Stable 

(c)   

   )7t(u)1t(u2)5t(u2)5t(u)1t(u2)3t(u

)5t(h2)3t(h)5t()*t(h2)3t()*t(h)t(y



 

-7 8 

h(t) 
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3.23. 

(a)     )3t(u3t)21t(u21t 

(b) x(t)=1 if t>1,h(t) =1 if t>2 

3.24     

a) Casual since h(t)=0 when t<0

b) Stable

c) Not casual and not stable
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3.33.   
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